Name

Geometry 2-6 Angle Proofs Worksheet

1. Given: A1 and 42 are complements
43 and £4 are complements

42 = 44

Prove: 41 = 43

2 _ g

Statements Reasons
1. 41 and 42 are complements 1.

43 and 44 are complements

42 = 44
2.ms2 =mzs4 2.
3. m&1 +m42 =90, ma3 + m44 =90 3.
4. m41 +m42 =m43 + m44 4,
5.m41 + m44 =m43 + m44 5.
5.mz1 =m«3 5.
6.41 = 43 6.

2. Given: m«43 = 120,41 = 24,43 = £4

Prove: mz1 =120

Statements Reasons
1.ms3 =120,21 2 74, 1.
£3 2 4
2. 2. Transitive Property
3.mal =ma3 3.
4. mes1l =120 4,
3. Given: £3 and 22 are complementary, mz1 + m«2 = 90° 2

Prove: 21 = «£3

Statements

Reasons

1. £3 and £2 are complementary, ms21 + ms2 = 90° | 1.

2.

3.msl +ms2 = me3 +ms2

4.

5.241= /3

2. Definition of Complementary £'s
3.
4. Subtraction Property of Equality

5.




4. Given: 25 = 26
Prove: 24 = 27

Statements Reasons
1.45 = 26 1.
2.24 = /5and 26 = 27 2.
3.24 =26 3.
4.24 =27 4,
5. Given: AB 1 BC A
Prove: 21 and £2 are complementary 2 1 _
B C

Statements Reasons
1.AB 1 BC 1.
2. £ABC is aright angle 2.
3. mzABC =90 3.
4. mel1+mse2 =msABC 4,
5.ms1+ms2 =90 5.
6. 421 and £2 are complementary 6.

6. Given: ms1 =m«3 ! 1 32 : 7. Given: CA bisects 2BCD, 22 = 23

Prove: m£AEC = m«DEB : 3 - Prove: 21 = «3
Statements Reasons Statements Reasons
1) me1 = me3 1) 1) CA bisects 2BCD 1)
2)ms2 =me2 2) 2) £1 =22 2)
3) ms1 4+ ms2 =ms3+ms2 3) 3) £2 =13 3)
4) ms1+ms2 = meAEC 4) 4) £1 =13 4)
5) ms2 + ms3 = msBED 5)

6) m£AEC = msBED




